
The	
  Long	
  Search	
  for	
  the	
  Higgs	
  

A	
  Higgs-­‐like	
  par7cle…..	
  
What	
  is	
  it	
  and	
  why	
  should	
  you	
  care?	
  

S.	
  Dawson,	
  BNL	
  
Jan.17,	
  2014	
  

1	
  



New York Times, July 5, 2012	


Physicists	
  Find	
  Elusive	
  Par3cle	
  Seen	
  as	
  Key	
  to	
  Universe	
  

Scien7sts	
  in	
  Geneva	
  on	
  Wednesday	
  applauded	
  the	
  discovery	
  of	
  a	
  
subatomic	
  par7cle	
  that	
  looks	
  like	
  the	
  Higgs	
  boson.	
  



History	
  in	
  the	
  making	
  



A	
  Higgs	
  par7cle	
  predicted	
  in	
  1964	
  

Peter	
  Higgs	
  in	
  the	
  LHC	
  tunnel	
  in	
  2012	
  



A	
  Long	
  Journey	
  



Higgs	
  par7cle	
  solves	
  many	
  problems	
  

•  Symmetry:	
  	
  	
  
– Why	
  do	
  par7cles	
  have	
  different	
  masses?	
  
– Why	
  do	
  par7cles	
  have	
  mass	
  at	
  all?	
  

•  An	
  essen7al	
  part	
  of	
  the	
  theory	
  
– Without	
  it	
  the	
  theory	
  doesn’t	
  make	
  sense	
  
– Without	
  the	
  Higgs	
  you	
  can’t	
  make	
  predic7ons	
  



Standard	
  Model	
  

•  Par7cle	
  physics	
  has	
  a	
  “Standard	
  Model”	
  of	
  par7cles	
  
and	
  their	
  interac7ons	
  

•  Point-like particles	



•  Force carriers communicate 
between particles	



•  The Higgs particle completes 
the Standard Model	





The	
  par7cles	
  

•  Leptons	
  (e,	
  µ,	
  τ,ν)	
  and	
  quarks	
  are	
  point-­‐like	
  
•  No	
  free	
  quarks	
  
•  Proton	
  p	
  =	
  uud	
  +	
  (infinite	
  number	
  of	
  	
  	
  	
  	
  	
  	
  pairs	
  
and	
  gluons)	
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Typical	
  interac7on	
  energy	
  at	
  LHC	
  ~	
  1	
  TeV	
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Par7cles	
  have	
  very	
  different	
  masses	
  
•  Why	
  are	
  there	
  6	
  quarks	
  anyways?	
  

u,d,s	
  very	
  light	
  

Mc=1.5	
  GeV	
  

Mb=5	
  GeV	
  

Mt=175	
  GeV	
  

I	
  won’t	
  talk	
  about	
  this	
  because	
  
nobody	
  has	
  any	
  good	
  ideas	
  



Understanding	
  Forces	
  
•  Electromagne7sm	
  explains	
  electricity	
  and	
  
magne7sm	
  

•  Weak	
  force	
  explains	
  radioac7vity	
  (Fermi,	
  1933)	
  
•  Strong	
  force	
  explains	
  why	
  quarks	
  are	
  bound	
  in	
  
protons	
  

•  Gravity	
  seems	
  simple…..	
  

	
  



Forces	
  associated	
  with	
  par7cles	
  

•  Force	
  carriers:	
  gluon,	
  W	
  and	
  Z	
  bosons,	
  photon	
  

•  Gluon	
  and	
  photon	
  are	
  massless	
  

• W	
  and	
  Z	
  are	
  very	
  heavy…..WHY?????	
  

• W	
  is	
  82	
  x’s	
  mass	
  of	
  proton,	
  discovered	
  1982	
  

•  We	
  say	
  that	
  the	
  symmetry	
  is	
  broken	
  

The	
  Higgs	
  boson	
  was	
  invented	
  to	
  explain	
  
why	
  the	
  W	
  and	
  Z	
  boson	
  are	
  heavy	
  



What	
  is	
  this	
  thing?????	
  

•  A	
  par7cle	
  (The	
  Higgs	
  boson)	
  
– All	
  of	
  its	
  proper7es	
  except	
  for	
  its	
  mass	
  are	
  
predicted	
  

–  It	
  is	
  a	
  real	
  par7cle	
  which	
  we	
  can	
  study	
  
•  A	
  field	
  (The	
  Higgs	
  field)	
  

– When	
  other	
  par7cles	
  (like	
  the	
  W	
  and	
  Z	
  bosons)	
  
interact	
  with	
  the	
  Higgs	
  field	
  they	
  become	
  massive	
  



Masses	
  for	
  par7cles	
  

top	
  
e	
  

•  The	
  more	
  a	
  par7cle	
  interacts	
  with	
  the	
  Higgs	
  boson,	
  
the	
  heavier	
  it	
  is	
  

•  Higgs	
  par7cle	
  explains	
  quark	
  and	
  electron	
  masses	
  



If	
  there	
  were	
  no	
  Higgs	
  Boson	
  

•  Higgs	
  boson	
  explains	
  why	
  electron	
  has	
  mass	
  
•  Radius	
  of	
  nuclei	
  depend	
  on	
  electron	
  mass	
  

•  Atoms	
  wouldn’t	
  form	
  without	
  the	
  Higgs	
  boson!	
  

Radius	
  	
  is	
  propor7onal	
  
to	
  1/mass(electron)	
  



Explaining	
  Mass	
  

95%	
  of	
  the	
  mass	
  of	
  the	
  universe	
  is	
  dark	
  maler	
  and	
  
dark	
  energy	
  which	
  is	
  not	
  explained	
  by	
  the	
  Higgs	
  boson	
  



Explaining	
  Mass	
  
•  Mass	
  of	
  a	
  proton	
  comes	
  from	
  the	
  interac7ons	
  
of	
  the	
  gluons	
  within	
  the	
  proton	
  (not	
  from	
  the	
  
Higgs	
  mechanism)	
  

PHENIX	
  
experiment	
  
at	
  RHIC	
  



Why	
  is	
  Mass	
  a	
  Problem?	
  
	
  

•  Interac7ons	
  of	
  photon	
  (A)	
  unchanged	
  if:	
  
	
  	
  	
  	
  	
  	
   	
   	
  	
  
•  Mass	
  term	
  for	
  gauge	
  boson	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  

•  Violates	
  gauge	
  invariance	
  
•  So	
  we	
  understand	
  why	
  photon	
  is	
  massless	
  

A ! A+ (anything)

1

2
M2A2

James	
  Maxwell,	
  
1831-­‐1879	
  



Wanted	
  
•  Wanted….gauge	
  invariant	
  way	
  to	
  give	
  mass	
  to	
  W	
  and	
  Z	
  	
  
•  Solu7on	
  is	
  “Higgs	
  Mechanism”	
  
•  Relies	
  on	
  broken	
  symmetry	
  of	
  scalar	
  par7cle	
  

Choice	
  of	
  minimum	
  breaks	
  symmetry	
  

Energy	
  of	
  scalar	
  
par7cle	
  



Higgs	
  Mechanism	
  in	
  a	
  Nutshell	
  
•  Add	
  2	
  complex	
  scalar	
  par7cles	
  (4	
  free	
  parameters)	
  
•  Let	
  scalars	
  interact	
  with	
  W	
  and	
  Z	
  
•  3	
  parameters	
  are	
  absorbed	
  to	
  masses	
  of	
  W+,	
  W-­‐,	
  Z	
  
•  1	
  parameter	
  remains	
  

– This	
  is	
  physical	
  Higgs	
  boson,	
  H	
  
– Necessary	
  consequence	
  of	
  Higgs	
  mechanism	
  

Gauge invariant mechanism to give mass to W and Z 



What	
  is	
  a	
  theory????	
  
•  We	
  have	
  the	
  “Standard	
  Model”	
  

– Calculate	
  and	
  make	
  predic7ons	
  

•  Without	
  something	
  like	
  a	
  Higgs	
  
boson,	
  results	
  are	
  infinite	
  

•  Predict:	
  MW=82	
  GeV	
  +	
  infinity	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  OOPS!	
  
•  Beler:	
  	
  	
  
	
  MW=82	
  GeV	
  +	
  logarithm	
  (MHiggs)	
  +….	
  



The	
  6	
  billion	
  dollar	
  plot	
  

Self-­‐consistency	
  of	
  the	
  theory	
  told	
  us	
  
the	
  Higgs	
  couldn’t	
  be	
  too	
  heavy	
  

Experimental	
  
measurements	
  from	
  
Fermilab	
  

Theory	
  predic7ons	
  

Inferred	
  values	
  of	
  
MW	
  and	
  Mt	
  from	
  
other	
  experiments	
  

Mtop	
  (GeV)	
  

M
W
	
  (G

eV
)	
  



How	
  to	
  find	
  the	
  Higgs	
  
•  Need	
  the	
  tools	
  

– Theory:	
  poin7ng	
  the	
  way	
  to	
  look	
  
– Accelerator:	
  Large	
  Hadron	
  Collider	
  at	
  CERN	
  
– Detectors:	
  ATLAS	
  and	
  CMS	
  



30	
  Years	
  of	
  Experiments	
  
•  If….the	
  Standard	
  Model	
  with	
  a	
  Higgs	
  boson	
  is	
  
the	
  whole	
  story….	
  

•  We	
  infer	
  from	
  many	
  measurements:	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  MH	
  <	
  145	
  GeV	
  

– Discovery	
  of	
  a	
  125	
  GeV	
  Higgs	
  boson	
  is	
  consistent	
  
with	
  our	
  Standard	
  Model	
  expecta3ons	
  



Tevatron	
  (Chicago,	
  Illinois)	
  	
  
• 	
  pp	
  collisions	
  at	
  energy	
  =	
  2000	
  GeV	
  
• 	
  Closed	
  at	
  end	
  of	
  2011	
  

No	
  Higgs	
  



Large	
  Hadron	
  Collider	
  (LHC)	
  
•  proton-­‐proton	
  collider	
  at	
  
CERN	
  	
  
–  First	
  collisions,	
  March	
  30,	
  
2010!	
  

•  Goal:	
  14	
  TeV	
  energy	
  	
  
–  7	
  mph	
  slower	
  than	
  the	
  speed	
  
of	
  light	
  

–  cf.	
  2	
  TeV	
  @	
  Fermilab	
  
	
  	
  (	
  307	
  mph	
  slower	
  than	
  the	
  
speed	
  of	
  light)	
  

•  Typical	
  energy	
  of	
  quarks	
  
and	
  gluons	
  1-­‐2	
  TeV	
  



Stored	
  Energy	
  of	
  Beams	
  	
  
•  Ebeam=1.5	
  Giga	
  Joule	
  
•  LHC	
  beams	
  at	
  7	
  TeV	
  have	
  
same	
  kine7c	
  energy	
  as	
  
aircras	
  carrier	
  at	
  15	
  
knots!	
  

•  Largest	
  scien7fic	
  project	
  
ever	
  completed	
  



Two	
  Detector	
  Collabora7ons	
  
•  ATLAS	
  and	
  CMS	
  (~3000	
  members	
  each	
  from	
  
41	
  countries)	
  



LHC	
  Requires	
  Detectors	
  of	
  
Unprecedented	
  Scale	
  

•  CMS is 12,000 tons 
(2 x’s ATLAS)	



•  ATLAS has 8 times 
the volume of CMS	



6.920  m

5.635  m

4.645 m

3.850  m

2.950 m

2.864  m

1.840 m
1.320  m

Y

X
 

Towards
Center of LHC

Transverse View 

µ

CMS-TS-00079



Two	
  Detectors	
  



Making	
  a	
  Higgs	
  boson	
  
•  At	
  the	
  LHC,	
  protons	
  collide	
  at	
  99%	
  of	
  the	
  
speed	
  of	
  light	
  
– Most	
  of	
  the	
  7me	
  no	
  Higgs	
  boson	
  is	
  made	
  
– Very	
  (!)	
  rarely,	
  out	
  comes	
  a	
  Higgs	
  boson	
  which	
  
decays	
  in	
  10-­‐22	
  seconds	
  

– We	
  can	
  calculate	
  how	
  many	
  Higgs	
  bosons	
  are	
  
made	
  and	
  what	
  they	
  decay	
  to	
  

Higgs	
  decaying	
  to	
  two	
  photons	
   Higgs	
  decaying	
  to	
  2	
  electrons	
  and	
  2	
  muons	
  



How	
  Rare	
  is	
  a	
  Higgs?	
  
•  The	
  LHC	
  has	
  made:	
  

1010	
  b	
  quark	
  pairs	
  

108	
  W	
  bosons	
  

107	
  Z	
  bosons	
  

105	
  Higgs	
  bosons	
  

105	
  top	
  quark	
  pairs	
  

1	
  Higgs	
  for	
  every	
  100,000	
  b	
  quark	
  pairs	
  



Discovery	
  by	
  Bump	
  Hun7ng	
  
(Resonances)	
  

(MZc2)2=(E++E-­‐)2-­‐(p++p-­‐)2c2	
  

Zèµ+µ-	

Z	
  	
  	
  	
  	
  	
  e+e-­‐	
  ATLAS	
  

MZ	
  



Bump	
  Hun7ng	
  the	
  Higgs	
  

•  To	
  start	
  look	
  for:	
  

•  Detectors	
  designed	
  
to	
  be	
  very	
  good	
  at	
  
measuring	
  photons,	
  
electrons,	
  and	
  
muons	
  	
  

pp ! Higgs ! ��

pp ! Higgs ! ZZ ! e+e�µ+µ�



Wait	
  a	
  minute	
  

•  Ques7on:	
  How	
  does	
  the	
  Higgs	
  interact	
  with	
  a	
  
massless	
  photon?	
  

•  Answer:	
  Indirectly	
  

Higgs	
  
Quantum	
  fluctua7ons	
  
of	
  heavy	
  W,	
  Z,	
  &	
  top	
  

2	
  photons	
  



Predic7ons:	
  	
  
•  174,000	
  Higgs	
  made	
  

– 397	
  decayed	
  to	
  2γ	
  
– 10	
  decayed	
  to	
  2	
  Z’s	
  
which	
  then	
  decayed	
  
to	
  e+e-­‐µ+µ- pairs	
  

– 60%	
  of	
  the	
  Higgs	
  
bosons	
  decay	
  to	
  b	
  
quarks	
  

“Always	
  the	
  last	
  place	
  you	
  look”	
  

*	
  As	
  of	
  July	
  4	
  announcement.	
  	
  Now	
  have	
  6	
  7mes	
  more	
  data	
  



The	
  4th	
  of	
  July!	
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Mγγ (GeV) 
H         γγ	



Mγγ (GeV) 



Also see H   ZZ 
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H         ZZ*       4 leptons 

M4l (GeV) M4l (GeV) 



Higgs Candidate Looks Right 

38	
  

CMS 

Higgs	
  decays	
  
in	
  predicted	
  
manner	
  

No	
  fudge	
  
factors	
  in	
  
theory!!!!	
  

Measured	
  rate/predicted	
  rate	
  
Average	
  =	
  .88	
  ±	
  .21	
  



Consistent	
  with	
  SM	
  Hypothesis	
  

Note	
  theory	
  uncertain7es	
  
S.	
  Dawson	
   39	
  



Just	
  the	
  beginning	
  of	
  the	
  story	
  



What	
  Else	
  Could	
  it	
  Be?	
  

•  Easy	
  to	
  construct	
  a	
  theory	
  which	
  looks	
  a	
  lot	
  
like	
  the	
  Higgs	
  model	
  

•  We	
  could	
  have	
  more	
  Higgs	
  par7cles	
  
•  The	
  Higgs	
  could	
  interact	
  slightly	
  differently	
  
than	
  our	
  model	
  
– This	
  would	
  require	
  new	
  (as	
  yet	
  undiscovered)	
  
heavy	
  par7cles	
  

– There	
  are	
  theore7cal	
  mo7va7ons	
  for	
  such	
  models	
  

Many	
  possibili7es—
all	
  of	
  which	
  involve	
  
new	
  heavy	
  par7cles	
  
which	
  could	
  be	
  
found	
  at	
  the	
  LHC	
  

Higgs	
  observa7on	
  



2
2 GeV200

TeV 0.7
⎟
⎠

⎞
⎜
⎝

⎛ Λ
−≈HMδ

MH	
  ≤	
  200	
  GeV	
  requires	
  Λ	
  ~	
  TeV	
  

Quantum	
  Correc7ons	
  to	
  Higgs	
  Mass	
  
•  Higgs	
  mass	
  grows	
  	
  quadra7cally	
  with	
  scale	
  of	
  new	
  
physics,	
  Λ	
  	
  

Points	
  to	
  1	
  TeV	
  as	
  scale	
  of	
  new	
  physics	
  



The	
  Detec7ve	
  Story	
  
•  Finding	
  a	
  Higgs-­‐like	
  par7cle	
  is	
  just	
  the	
  beginning	
  
•  We	
  need	
  to	
  measure	
  all	
  its	
  proper7es	
  

–  Is	
  it	
  the	
  predicted	
  par7cle?	
  
•  Many	
  unanswered	
  ques7ons	
  

– What	
  is	
  dark	
  maler?	
  
– Why	
  are	
  some	
  par7cles	
  so	
  much	
  heavier	
  than	
  others?	
  
– We	
  are	
  just	
  beginning	
  the	
  explora7on	
  	
  

Pure	
  science	
  at	
  its	
  best!	
  


